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[evaluate system_time_inquiry_client.py]

A client is running

The client addr

Connected to 12

Send a request

Received the current system time on the server: 2020-04-29 11:17:05.
Send a request: Exit.

Traceback (most recent call last):

File "F:/Users/doris/OneDrive/com sork/experiments/exp-4-resources/system time inquiry/system_time_inquiry client.py", line
response = clientSocket.recv(bu
builtins.0SError: [WinError 10@38] 1
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(https://docs.python.org/3.7/library/socket.html#socket.close) , & & close(): £ a9~
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socket.close()

Mark the socket closed. The underlying system resource (e.g. a file
descriptor) is also closed when all file objects from makefile () are closed.

Once that happens, all future operations on the socket object will fail. The
remote end will receive no more data (after queued data is flushed).

Sockets are automatically closed when they are garbage-collected, but it is
recommended to close () them explicitly, or to use awith statement

around them.

Changed in version 3.6: 0sError is how raised if an error occurs when the
underlying close () call is made.

Note

close () releases the resource associated with a connection but does not
necessarily close the connection immediately. If you want to close the

connection in a timely fashion, call shutdown () before close ().
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[ tep.port == 12000

Time Source Source Port  Destination Destination Por Frotocol Info
22.753035 127.0.0.1 64902  127.0.0.1 12000 TP 64902 > 12000 [SYN] Seq=@ Win=65535 Len=0 MSS=65495 WS=256 SACK_PERM=1
22.753097 127.0.0.1 12000  127.0.0.1 64902 TP 12000 > 64902 [SYN, ACK] Seq=@ Ack=1 Win=65535 Len=@ M$S=65495 WS=256 SACK_PERM=1
22.753136 127.0.8.1 64992  127.0.0.1 12000 TCP 64902 > 12600 [ACK] Seq=1 Ack=1 Win=2619648 Len=0
22.753496 127.0.8.1 64902  127.0.0.1 12000 TcP 64902 > 12000 [PSH, ACK] Seq=1 Ack=1 Win=2619648 Len=4
22.753519 127.0.0.1 12000  127.0.0.1 64902 TcP 12000 » 64902 [ACK] Seq=1 Ack=5 Win=2619648 Len=8
22.758418 127.0.0.1 12000  127.0.0.1 64902 TcP 12000 » 64902 [PSH, ACK] Seq=1 Ack=5 Win=2619648 Len=19
22.758457 127.0.0.1 64902  127.0.0.1 12000 TcP 64902 > 12000 [ACK] Seq=5 Ack=20 Win=2619648 Len=0
22.758520 127.0.0.1 64902  127.0.0.1 12000 TCP 64902 > 12000 [PSH, ACK] Seq=5 Ack=20 Win=2619648 Len=4
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22.758575 127.0.8.1 64902  127.0.0.1 12000 TP 64902 > 12000 [FIN, ACK] Seq=9 Ack=20 Win=2619648 Len=0
222225971 122001 12000 1272.0.0 1 24902 1D 12000 > 54902 [ACK] 020 Acks10 Wins2019048 | ansd
22.759323 127.0.0.1 12000  127.0.0.1 64902 TCP 12000 > 64902 [PSH, ACK] Seq=20 Ack=10 Win=2619648 Len=3

127.6.0.1 127.0.0.1 12000 | 64902 » 12000 [RST, ACK] Seq=10 Ack=23 Win=0 Len=0
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https://docs.python.org/3.7/library/socket.html#socket.close
https://docs.python.org/3.7/library/socket.html#socket.socket.makefile
https://docs.python.org/3.7/library/socket.html#socket.close
https://docs.python.org/3.7/reference/compound_stmts.html#with
https://docs.python.org/3.7/library/exceptions.html#OSError
https://docs.python.org/3.7/library/socket.html#socket.close
https://docs.python.org/3.7/library/socket.html#socket.socket.shutdown
https://docs.python.org/3.7/library/socket.html#socket.close
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socket . shutdown(how)
Shut down one or both halves of the connection. If how is SHUT RD, further
receives are disallowed. If how is SHUT WR, further sends are disallowed.
If how is SHUT RDWR, further sends and receives are disallowed.
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[evaluate system time inquiry client.py]
A client is running.

The client address: ('127.0.0.1", 64656)
Connected to 127.0.06.1:12000.

Send a request: Time.

Received the current system time on the server: 2020-84-29 10:57:41.
Send a request: Exit.

Received a response: Bye.
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[ [tcp.port == 12000

Source Source Port  Destination Destination Por Protocol  Info
127.0.0.1 64656 127.0.0.1 126000 TCP 64656 > 12000 [SYN] Seq=0 Win=65535 Len=8 MSS=65495 WS=256 SACK PERM=1
127.0.0.1 12000 127.0.0.1 64656 TCP 12000 + 64656 [SYN, ACK] Seq=0@ Ack=1 Win=65535 Len=8 MSS=65495 WS=256 SACK_PERM=1
127.0.0.1 64656 127.0.0.1 12000 TCP 64656 > 12000 [ACK] Seg=1 Ack=1 Win=2619648 Len=0
127.06.0.1 64656 127.0.0.1 12000 cp 64656 » 12600 [PSH, ACK] Seq=1 Ack=1 Win=2619648 Len=4
127.0.0.1 12000 127.0.0.1 64656 Tcp 12000 + 64656 [ACK] Seg=1 Ack=5 Win=2619648 Len=0
127.0.0.1 12000 127.0.9.1 64656 TCP 12000 > 64656 [PSH, ACK] Seq=1 Ack=5 Win=2619648 Len=19
127.0.0.1 64656 127.0.0.1 12000 Tcp 64656 » 12000 [ACK] Seq=5 Ack=20 Win=2619648 Len=0
127.0.0.1 64656 127.0.0.1 12000 TCP 64656 » 12000 [PSH, ACK] Seg=5 Ack=20 Win=2619648 Len=4
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127.0.0.1 64656 127.0.0.1 12000 TCP 64656 > 12000 [FIN, ACK] Seq=9 Ack=20 Win=2619648 Len=0
127.0.0.1 12000 127.0.0.1 04656 ICP 12000 o 04656 TACK] Seg=20 Ack=10 Wjin=-2619648 lon=0
8.979214 127.6.0.1 12000 127.0.0.1 64656 TP 12000 > 64656 |[PSH, ACK] Seq=20 Ack=10 Win=2619648 Len=3
‘8.979228 127.6.0.1 64656 127.0.0.1 12000 TCP 64656 + 12000 [ACK] Seq=10 Ack=23 Win=2619648 Len=0
B.9/v01L 1s7.0.0.1 12000 1270 0.1 04030 e 12000 > D4DOD [FLN, AUN]| DEYSL3 ACK=10 WLNS/DL1Y04S LEN=0
8.979629 127.0.0.1 64656 127.0.0.1 12000 P 64656 + 12000 [ACK] Seq=10 Ack=24 Win=2619648 Len=0
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